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7H | mEEEtAE 0.12 78 XE 0.15
58 |EZELVAIE 0.16 138 |BHM&XE 0.16
58 |EAEYRE 0.15 98 |BHERFIF— 0.10
58 |EE=2AE 0.13 128 |BEEHEEE2— 0.13
5H |XHEHNE 0.12 0.13 18 &t 32— 0.11
8H EAE 0.12 138 |8HaZ2=F1t> 59— 0.11
8H |#ELREALE 0.08 158 | ARt 32— 0.10
5 |EX 0K AE 0.12 0.14 7H |[Ex 25— 0.12
8H |#EESNHNAE 0.09 138 |3kt 52— 0.21
78 |StmEu2EFHOBEUE 0.12 8H @ttt 2— 0.24
78 l=tesz & o) Feowos| 011 0.09 9H FIEF N E 0.12 0.20
7H |EtHEEFHOBEVE 0.13 X50cm. 100cmBIEBERFEBROHERS (FLE) DEDTT
5H |EXAFHDBEVIF] 0.12 0.09 30.23y Sv/hE EDBIFEEERARRLTOET (524 45EH)
78 1UR#H) 2R FEH 0.16




= | = I =
MAAREERFOMSEENERE —E (H24F108 7)
P o= AIEIE(QW Sv/h) = = AIEIE(W Sv/h)
HlEH *’“"’ﬁ_ #1(5¢cm)] 50cm | 100cm AEH S5 18(5cm)| 50cm | 100cm
108 la/KOhe & 0.17 0.16 5 |FAEAE 0.12 0.12
38 |[HLUEEE 0.10 0.10 98 |[XKWAORENE 0.10 0.16
18 |#EREER 0.17 0.19 98 | KA E—LE 0.11
98 |1BHEEHE 0.10 0.08 98 | RKILAdE=ZLAE 0.10
118 |CSRER 0.13 0.12 5H |KIWWRENE 0.09 0.10
58 |lFhsrss#RE-EEE]| 0.10 0.12 5H | RIUEAE 0.13
108 |[OFEHLYRER 0.18 0.11 5H |XMBEENE 0.10 [ 0.11
3H |BHASLEER 0.08 0.13 108 | =LA E 0.19
48 |cEEFELZ— 0.11 0.16 D=0 B[ NE] 0.17
158 |BHN#EE 0.16 0.09 118 |BEHRAE 0.07
48 |BHEZHHE 0.16 | 0.09 128 [t XERENE 015 | 0.14
5H |E4#E 0.10 0.17 118 | EXE=ZNE 0.11 0.19
128 |FEEIYHE 0.09 0.12 118 | =2 WLEAE 0.14
3H [FC SmlIsHE 011 | 016 1H [FOERENE 017 | 0.19
5H |BHE—/IFKR 0.09 0.08 1B |HO0Z ML 0.20
11H |BHEZ/NFER 0.08 0.11 108 |R/EBE AR 0.15
4B |BHE=/IFR 0.08 0.09 128 | X/t E 0.15
98 | RO /NER 0.08 0.12 118 |EEAE 0.17
178 | EXRE/IMNFR 0.13 0.11 128 IFHRAE 0.10
98 |FBKO/NERR 012 | 0.12 98 |FAFEFHEHD#EVIH 0.20
158 |E/hEts 017 | 0.12 108 [P AEHEDE 0.20
28 [#aE /IR 0.09 0.10 98 IB/KAORENE 0.16 0.10
18 [ b/t 0.10 | 0.13 128 [FKOFAELE 0.13
108 |BHFEK 0.07 0.13 0.12 108 P\iERE/NE 0.20 0.14
98 | RILOdER 0.08 0.08 10H |ITRE=ENE 0.10 0.08
1B | EXREHER 012 [ 0.11 0.12 108 |[HOEEZEMILE 0.24
48 |FEILPER 018 [ 012 | 0.12 108 | tXRE—1HE 0.16
3H |HEdER 0.13 0.10 0.11 108 |B#ILIRE NE 0.15 0.08
108 [IBEESK 0.22 58 |FLIAE 0.20
5H | TEANHLAE 0.11 0.19 98 |JEAE_HENE 013 | 0.17
98 |BHFEVILE 013 [ 023 28 |EREEANE 0.12 | 0.16
58 |THERANE 0.16 20 [Jt/ FREAE 0.13 0.23
5H | EAZEAER 0.13 48 |EEAE 0.09
5H | RFHDBEUIS 0.14 18 |[+5—2HE 0.29
5H |FTEBRFEDEVS 0.16 3H | H&E—FHOHEUVIS 0.21
48 EBFEHDBEVIS 0.16 28 |[EFEEAE 0.19
3B |fAEFEHDEVIS 0.21 28 |BFERFE_LE 0.22
98 |a#EnEFROBEVE 0.17 1H |—AELNE 0.17 0.16
98 |BaHmEsFHDEUE] 0.14 0.20 18 |—HEELE 0.15 0.21
108 |FTiRABEEDFE 0.20 =l EEINNE] 0.22 0.26
3H |HAIEmEDH 0.19 Y= EE NS 0.18 0.14
128 |E/512E 0.14 3B |AEFFHDEVS 0.24
108 |FEAEnRFHOEVE 0.22 18 |thp EE—RENE] 0.14 0.15
118 |SHFHDBEVIS 0.16 18 o EE-REAE] 0.14 0.16
118 |hFHDFEVS 0.19 5H |JEAE—RENE 0.20 0.11
118 |2 RFHDBEVIS 0.14 5 |JE:ATRE—NE 0.17
28 |EEE—2E 0.10 18 | FHLULE 0.11
4B |EEE-AE 0.08 28 [BENEE—NE 0.17
28 |EEE=2E 0.08 28 [BENEE=ZNE 0.16
4H |EEEEAE 0.10 28 |EXNEE=ZNE 0.06
30 |EEEHRAE 0.11 1H IBHAFLE 0.18
48 |EEEARAE 0.12 28 |HPELE 0.13
3 |EEEEtAE 0.13 28 7|<;3 0.15
18 |E#SELVAIL 0.16 48 |BHMEF 0.17
1H |EAEYRAE 0.15 5 |BHERFIE2— 0.22
18 |RS=2E 0.09 108 |EEHEEE 2— 0.13
18 |RALEANE 0.11 0.13 28 |#Et 43— 0.20
4H EAE 0.12 98 |8HaZ2=F > %— 0.14
48 B L REAE 0.07 118 | AR+ 52— 0.11
1B |EXU0&LCAE 0.12 0.13 38 |Ex 25— 0.12
48 |BEESNHNAE 0.09 48 [kt 32— 0.21
2H |SLRHRVAEFHOBUE 0.12 38 @t 2— 0.24
28 [=tass@) rrowvs| 0.09 0.07 4H FHEE) N E 0.11 0.20
20 |EXmBEFHOBEUS 0.14 X50cm. 100cmBIEBERFEBROHERS (FLE) DEDTT
1B |EXAEFHEOHEVIH] 0.12 0.08 30.23y Sv/hE EDBIFEEEHRARRLTOET (G54 THER)
28 (¥ EXHFEH 0.14




TAAKERFORFREANERR —E(H24F9/77)

AIEIE(QW Sv/h)

AIEIE(W Sv/h)

HlEH *’”’Fﬁ_ #1(5¢cm)] 50cm | 100cm ’E‘"’E_E' S5 18(5cm)| 50cm | 100cm
7H la/KOhe B 0.19 | 0.16 108 | P AR AR 0.13 | 0.13
58 |HLUESE 0.10 0.17 148 | XWORENE 0.12 0.16
38 |ERERE 0.17 0.08 108 | KLAdE—2AE 0.11
108 |BHEEE 0.10 0.08 7B | KIWLWOGEZNE 0.10
138 | RER 0.11 0.11 7H | KRS NE 0.08 0.10
108 |3 ss#E-E&5E]| 0.10 0.12 7B | RILUEAE 0.13
118 [O0FEHLYRER 0.18 0.13 7H | XMBEENE 0.14 | 0.11
5H |BHSLEER 0.07 0.11 108 | =LA E 0.18
680 |cEEFELF— 0.09 0.13 IAA=H E[doY2VNE] 0.19
138 |BHN#EE 0.15 0.11 108 |BREHRAE 0.07
68 |BHEZLHHE 0.15 [ 0.10 1B [ EXEREAE 0.13 | 0.15
108 |E4#E 0.10 0.19 128 | EXE=ZNE 0.12 0.18
108 |FEEIYHE 0.09 0.11 118 | =2 WLEAE 0.14
58 3 mIIsH#E 010 | 020 e [FOERENE 017 | 0.18
7H |BHE—IIVFR 0.08 0.08 128 |0 Z ML 0.21
128 |BHEZ/INFER 0.08 0.11 128 |R/EBEELAE 0.16
5H |BHE=/IFRK 0.08 0.09 128 | X/t E 0.15
108 | KILA/NER 0.07 0.11 1B |EE58E 0.19
138 | EXRE/INFR 0.16 0.11 128 IFHRAE 0.11
138 Bk O/ ERR 014 | 0.12 128 | RXEFH DMWY 0.21
58 |EIL/IMERR 023 | 012 128 [P RAEHEDE 0.19
48 |#E /IR 0.10 0.09 108 |BKkORENE 0.17 0.11
38 [itha E/hERR 0.10 | 0.13 78 |BKOFAELE 0.14
108 |BHFEK 0.08 0.10 0.10 108 |/\IBRENE 0.16 0.14
118 | XlOdEi 0.09 0.08 7H [T o=EAE 0.10 0.14
128 |[EREBER 0.11 013 [ 0.12 78 |[HOEEZEMILG 0.19
118 |Elid=ts 014 | 013 | 0.14 138 |t XRE—1HE 0.18
48 |HEdER 0.13 0.09 0.09 78 [B#ILIRE NE 0.16 0.10
HE [IBEESKR 0.23 68 |FLLAE 0.22
7H |FEANHUVLAER 014 | 0.21 68 |JEAE—HENE 020 | 0.19
108 |BHFEVOLE 0.13 0.22 4H |ERIBEAE 0.13 0.15
7H ITHAAE 0.15 48 b/ T REANE 0.14 0.21
68 | EAEZFEAE 0.13 68 |EEFEAE 0.14
7H | RFEHDBEUIS 0.13 3H | +&—2E 0.30
7H |TEBFHEDEVS 0.14 5H | +&—FHOHEUVIS 0.23
68 EBFHDBEVIS 0.18 4H [EPEEAE 0.18
5H |#HAREFHDHEUIS 0.19 4H |BFEEE_—NE 0.21
108 |a#fEnEFHROEVE 0.18 3B |—AEAE 0.14 0.16
108 |BHENFHDOBEUE] 0.14 0.16 3H |=HZEEAE 0.15 0.25
118 |FRABSEDFE 0.17 4B =X NE 0.28 0.34
5H |[MAEhmEDH 0.20 RI=I £ NES| 0.17 0.30
128 |E/512E 0.15 5H |AFFHDEVS 0.22
118 | FEAEnRFHOEVE 0.23 3 (b EE—RE/NE] 0.15 0.18
128 |SHFHDBEVIS 0.15 38 [ho EEZRENE]| 0.15 0.19
118 |FFHDBEVIS 0.20 68 |JEAE—RENE 0.17 0.11
128 |2 HFHDBEVIS 0.14 68 |JE:ATRE—NE 0.18
4B |EEE—2E 0.10 38 | FEIWLAE 0.12
680 |EEE_—AE 0.08 48 |BEXNEE—1NE 0.16
4H |HEE=2,E 0.11 48 |ENEE Z AR 0.17
680 |FEEEEAE 0.10 48 |BEXEE=E 0.16
5H |EEEHRAE 0.11 3B |BHARELAE 0.19
68 |EEEALE 0.14 4H |HPELE 0.13
5 |EREEEtAE 0.12 4H XE 0.15
38 |£SEHUVAIE 0.18 68 |BHM&FE 0.19
38 |RAEYRE 0.16 78 |BHERRItE 52— 0.14
38 |EE=2E 0.12 7H [EHEELR Z— 0.12
K=l EX AT, VN 0.11 0.12 48 |HEt 33— 0.15
6H EAE 0.13 78 [BHaZ2=F 45— 0.13
6H B LRENE 0.08 118 | AR+ 52— 0.10
38 |EX 0L AE 0.12 0.15 5H |EXt2%— 0.12
6H ELANHNAE 0.09 68 |3ttt 32— 0.20
48 |ELBEUAEFHOBEVIS 0.12 58 |Eitt 32— 0.21
48 |=teszcm reowvs| 011 0.09 5H FIEF N E 0.12 0.22
48 |EXmBEFHOBEUS 0.15 X50cm. 100cmBIEBERFEBROHERS (FLE) DEDTT
3H |EXAFHDOBEUIE]| 0.14 0.11 3023y Sv/hLl EDBIEEZRARTLTOES (354 8HER)
48 |(E#H) EXHFEH 0.16




TR K ERFORIREANERR—E (H245F8A )

AEE() Sv/h)

AEIB(Q Sv/h)

HlEH *ﬁ"ﬁ_ #1(5¢cm)] 50cm | 100cm %E S5 18(5cm)| 50cm | 100cm
8H |BKOGE & 0.17 | 0.14 78 |PAE AR 0.15 | 0.13
38 |[HLUEEE 0.10 0.11 7H | RWOREAE 0.12 0.17
18 |#EREER 0.18 0.14 88 | KLAOdE—LE 0.12
8H |BHEEH 0.10 0.09 8H | KILAOdE=ZLAE 0.12
98 | REE 0.13 0.13 7H | KRS NE 0.09 0.11
88 |lFhsss#RE-EEE]| 0.10 0.13 7B | RILUEAE 0.15
108 |[OFEHLYRER 0.18 0.14 7H | XMBEENE 0.11 0.13
28 |BHSLEER 0.08 0.13 8H |=EBLLUAE 0.14
6H |[CELFEELF— 0.11 0.14 9H HGtOARAE 0.15
9OH |BHY#HE 0.17 0.12 8H |BEHRANE 0.09
7H |BHEZHHEE 015 [ 0.11 8H |[tXERENE 014 | 0.14
98 |=E4H#E 0.11 0.17 138 | EXE=ZANE 0.12 0.19
108 |FEEIYHE 0.09 0.11 8H | WLUENE 0.16
3H |3 mlIsHE 010 | 021 138 [FFOERE NE 019 | 0.19
7H |1BHE—/IVFR 0.11 0.09 138 |0 Z NG 0.21
138 |BHEZ/INFER 0.08 0.13 98 |ER/EBELNE 0.17
3H |BHFE=/IFRK 0.10 0.09 108 |X/HEE 1t E 0.16
78 | RLO/NER 0.09 0.13 8H |ZEENE 0.20
138 | EXRE/INFR 0.13 0.12 9H |HMHRAE 0.11
98 |FBKO/NERR 015 | 0.13 108 |FRXEFHOBEUE 0.21
38 |E/hERR 017 | 0.12 9H |[FAEFHEDFH 0.20
28 [#aE /IR 0.11 0.09 8H IBE/KORENE 0.15 0.11
18 [ b/t 0.11 0.13 88 |BEKOAELNE 0.14
9Ol |BHH=ERK 0.07 0.12 0.13 98 |/\iERE/\NE 0.14 0.15
8H | AILOdZER 0.10 0.10 68 [ITOEENE 0.12 0.19
108 |EXREHFER 015 | 018 [ 0.17 68 |ITPEEZLEMLG 0.24
68 |mLld=E 030 | 014 [ 0.14 98 |EXRE—NE 0.18
3H |HEdER 0.13 0.10 0.10 8H |B#ILIIRE/NE 0.17 0.08
9H IR 0.24 78 |mLE 0.21
8H |TEANHLAE 014 | 0.21 718 PJEAE BB AR 018 | 0.19
98 |BHFEVILES 0.13 | 023 38 |BEMEEANE 0.15 [ 0.15
8H |FHANE 0.17 28 [dt/FREANE 0.18 0.24
8H | EAEZELAE 0.15 7H |1#EEZEAE 0.10
8H |AFHDEUIS 0.15 28 | +&—2E 0.30
8H |TEEFHDEVIS 0.15 3H | H&E—FHOHEUVIS 0.21
3H EBFHDBEUIS 0.18 3H [EFEEAE 0.25
3H |#HAREFHDBEUIS 0.24 3B |BFERE_LE 0.21
98 |a#EnEFROBEVE 0.17 1H |—AELNE 0.13 0.16
98 |BaHmEsFHDEUE] 0.14 0.20 18 |—HEELE 0.17 0.26
98 |FriRAASED T 0.16 =l EEINNE] 0.26 0.39
7H |#HAEHREDH 0.17 1H [HEAE 0.18 0.34
108 |E/5iE 0.16 3B |AEFFHDEVS 0.25
98 |FBAEMmRFERDEVE 0.23 18 |t EE—REAE]| 0.16 0.16
108 |SHFHDBEUIS 0.16 18 (o EE-REAE] 017 0.18
108 |FFHDBEVIS 0.19 78 JEAE—REANE 0.18 0.12
108 |2 HFHDBEVIS 0.15 78 R AT — N 0.19
28 |EEE—2E 0.11 18 | FHLULE 0.12
6H RS _—AE 0.10 28 |EXNEE—NE 0.17
2H |HEE=2,E 0.10 28 |ENEEZAE 0.17
68 |mEFEEARE 0.11 2B |ENEE=2AE 0.17
30 |EEEHRAE 0.12 1H IBHAFLE 0.20
680 |FREENRAE 0.14 28 |HPELE 0.13
28 |EEEEAE 0.14 28 XE 0.16
18 |E#SELVAIL 0.19 68 |BHM&FE 0.18
18 [EAEYLE 0.17 78 |BHERRItE 52— 0.15
18 |RS=2E 0.11 8H |HEHEELF— 0.13
18 |X&HEHANE 0.12 0.13 2B B&Et 32— 0.14
3H EAE 0.15 88 |8aHaZ2=Ft>%— 0.13
3 [{BEEREALE 0.09 108 | AR+ 52— 0.12
1B |EXU0&LCAE 0.13 0.15 38 |Ex 25— 0.12
3H |#EEESNHNAE 0.11 68 |3ttt 32— 0.23
2H |SLRHRVAEFHOBUE 0.14 18 |t 2— 0.26
28 |Eteasem reomvs| 011 0.10 7H FEE) 3 [ 0.11 0.21
20 |EXmBEFHOBEUS 0.16 350cm. 100cmilE B 4 Z FEaR D 1k m (PILED) DHD T
1H |EX@EFEDEVIE] 0.15 0.10 %023y Sv/hEA EDBIEEEZRARRLTOET (554 155EH)
28 |UR¥H) ELhFrEih 0.17




MAAREERFEORNEENEHE—E (H24ETAR)

AEE() Sv/h)

AEIB(Q Sv/h)

HlEH *’“"’ﬁ_ #1(5¢cm)] 50cm | 100cm ’E‘"’E_E' S5 18(5cm)| 50cm | 100cm
9H |aKOhe B 021 | 0.17 68 |PAE AR 0.16 | 0.14
48 |ELEEE 0.10 0.11 68 |XWORENE 0.11 0.16
28 |EREE 0.18 0.18 98 | KA E—LE 0.13
9H |BHEEE 0.10 0.10 98 | RKILAdE=ZLAE 0.11
118 |CSRER 0.10 0.12 68 |XKIWWRENE 0.10 0.19
68 |lIFasss#E-ZEEE]| 0.10 0.14 68 | XRIUEAE 0.16
118 [O0FEHLYRER 0.18 0.14 68 |XMBEENE 0.12 0.11
48 |BHSLEER 0.08 0.14 98 |=ELLAE 0.22
5H |cEEFELZ— 0.11 0.14 D=0 B[ NE] 0.22
118 |BFN#EE 0.19 0.12 108 |BREHRAE 0.08
68 |BHEZLHHE 016 | 0.12 98 |[tXERENE 0.16 | 0.16
108 |E4#E 0.11 0.18 118 | EXE=ZNE 0.11 0.17
108 |FEEIYHE 0.09 0.12 108 | =52 WLEAE 0.16
5H 3 mIsH#E 012 | 021 138 [FFOERE NE 018 | 0.19
68 |BHE—/IFKR 0.10 0.09 1B |HO0Z ML 0.20
11H |BHEZ/NFER 0.08 0.10 108 |R/EBE AR 0.17
4B |BHE=/IFR 0.09 0.09 K10 EZ i =E /N 0.19
98 | RO /NER 0.09 0.14 108 |EEAE 0.19
128 | EXRE/IMNFR 0.11 0.15 108 IHRAE 0.12
108 Bk O/ ERR 013 | 0.12 108 |FRXEFHOBEUE 0.20
48 |FE /R 0.14 0.13 HH |[FAFTHEDRH 0.21
3B |[#aE/IhER 0.11 0.10 680 IBE/KORENE 0.15 0.12
28 o E/NERR 0.11 0.13 98 |BKOALE 0.15
108 |BHFEK 0.09 0.13 0.13 98 P\iERENE 0.14 0.15
9l IXILIO = 0.25 0.10 0.10 5 |[FrEEAE 0.11 0.11
1B | EXREHFR 012 | 014 [ 0.13 58 |ITPEELEMLG 0.22
58 |FEIlfER 024 | 015 | 0.14 1B | EXE—NE 0.18
48 |HEdER 0.13 0.12 0.11 98 |B#ILIIRE/NE 0.16 0.08
108 [IBEESK 0.23 58 |FLIAE 0.14
9H |FEANHULAE 012 | 0.22 68 |JEAE—HENE 015 [ 0.20
108 |BHFEVILE 0.15 0.23 4H |ERREAE 0.16 0.16
68 |THEARNE 0.16 3H [Jt/ FREAE 0.15 0.23
68 | EAEZFEAE 0.15 58 |EEFEAE 0.14
68 |AFHDBEUIS 0.15 28 | +&—2E 0.30
68 |TEEFEHDEVS 0.17 4H [HRE—FEHDBEVIS 0.22
5H LEEHFHDBEUIS 0.18 4H [EPEEAE 0.20
4H |#HREFHDBEUIS 0.27 4H |BFEEE_—NE 0.22
98 |a#EnEFROBEVE 0.17 28 |—AREAE 0.13 0.20
98 |eHENFHOWEUE| 0.15 0.20 2B |=HZEXEAE 0.12 0.17
108 |FTiRABEEDFE 0.16 =l EZINNE] 0.26 0.27
5H |[MAEhmEDH 0.23 RI=I £ NES| 0.20 0.18
118 |E/5128E 0.17 4H R BFHOFEVS 0.24
108 |FERE®RRFEDEVE 0.22 28 (b EE—RE/NE] 0.15 0.16
128 |SHFHDBEVIS 0.17 28 (B EEZRENE] 0.14 0.18
128 |FFHDBEVIS 0.19 68 |JEAE—RENE 0.20 0.13
128 |2 HFHDBEVIS 0.16 38 |JEATRE—NE 0.19
38 |EEE—2E 0.12 28 | FEIUAE 0.12
5H |EEE=AE 0.10 3B [BEN{EE—E 0.18
3 |EEE=2E 0.12 3H |EXNEEZAE 0.19
5H |mEREEAR 0.11 3B [BENEE=E 0.17
4H |EEEHAE 0.13 28 |BHARELAE 0.20
5 |EEEEAAE 0.14 38 |HPELE 0.14
3 |EEEEtAE 0.13 3H XE 0.16
2B |ZSEHUVAIE 0.20 58 |BHM&FE 0.20
28 |EALEYLE 0.17 38 | HERFI 32— 0.14
=l EESAVNE 0.14 90 |[HEHEELF— 0.13
2B | XA LEHNE 0.12 0.13 38 |#kEt 43— 0.13
5H EAE 0.15 68 |8HI3S2=Ft>%— 0.13
5H |[#E L REAE 0.09 12H | ARt 53— 0.14
28 |EX 0L AE 0.12 0.15 48 |EX 53— 0.12
48 |BEESNHNAE 0.10 5H |3tk 32— 0.22
3H |StRHRUAEFHOBEUE 0.14 28 @t 2— 0.25
28 |Eteasem reomvs| 011 0.10 5H FEE) 3 [ 012 | 0.22
3H |EtEEFHDBEVE 0.15 350cm. 100cmilE B 4 Z FEaR D 1k m (PILED) DHD T
280 |EXAFHOHEUVIE] 0.15 0.10 %023y Sv/hEA EDBIEEEZRARRLTOET (RS 115EH)
3H |UR¥H) =L hFrEih 0.17




TAAKERFORIREANERR —E (H24F6H57)

AEE() Sv/h)

AEIB(Q Sv/h)

HlEH *’“"’ﬁ_ #1(5¢cm)] 50cm | 100cm ’E‘"’E_E' S5 18(5cm)| 50cm | 100cm
188 ek e B 0.20 0.18 128 | RE AR 0.16 0.16
118 |FHLUESE 0.10 0.10 138 | KWWORENE 0.15 0.13
68 IEREE 0.19 0.15 138 | KLAdE—2AE 0.13
138 |BHEEERE 0.10 0.10 138 | KILAdLEZLAE 0.13
148 | RER 0.15 0.13 128 | KRB NE 0.11 0.12
138 |l sy#E-EEE] 0.12 0.13 118 | KA E 0.15
158 |[OFEHLYRER 020 [ 0.12 118 | XREENE 0.11 0.13
8H |BHSLEEHR 0.08 0.14 148 | =LA E 0.22
138 |cEEHEL 3— 0.17 0.17 158 [dLO R E 0.15
148 |BHY#EE 0.18 0.13 148 |BREHRANE 0.08
138 |BHEENHE 017 | 0.12 198 | EXx B RENE 013 | 0.15
158 |E9#E 0.11 0.18 198 | EXE=ZANE 0.12 0.20
18H |EENYHE 0.09 0.11 14H | =52 WLEAE 0.17
11 |EC SR 011 | 020 198 [HFOERE NE 020 | 0.20
118 |BHE—/IVFR 0.10 0.11 158 |0 Z BN 0.21
18H |BHEZ/IFER 0.09 0.13 158 |R/EBEE AR 0.18
8H |BHF=/IFK 0.13 0.10 158 |X/85 It nE 0.17
128 | KILA/NER 0.10 0.17 148 |2 318 E 0.19
208 | EXRE/INER 0.11 0.13 158 IFHRAE 0.15
158 Bk O/ ERR 015 | 0.13 148 |f RXEFHEOBEUE 0.22
128 |E/hEts 016 | 0.14 158 [P RAETHEDH 0.24
8H [taE /IR 0.12 0.11 188 |FB/KORENE 0.13 0.12
78 [t E/NER 011 | 013 148 EKOBAR 0.14
148 |BH PR 0.07 0.17 0.15 188 [J\IBEE N E 0.15 0.14
138 | KL d=R 0.25 0.11 0.10 118 |[FPEE A E 0.11 0.11
198 |EXREHFER 013 | 018 [ 0.17 27H [IT B L HMLES 0.25
138 |Eiidh=ts 018 | 014 | 0.3 158 | ERE—NE 0.19
8H |HEdZi 0.14 0.14 0.13 148 |B#IIIRE NE 0.15 0.09
158 IBEEE 0.22 128 [FEILAE 0.17
138 |[FEANHLAE 013 | 0.24 138 Y AE - BENE 017 | 0.19
148 |BHFEVOLE 0.14 0.25 118 |ERREAE 0.15 0.16
138 | TR E 0.16 118 |Jt/ FIREAE 0.17 0.24
128 | EANZFRNE 0.15 118 |EEZEAE 0.11
138 | RFHDFEVIE 0.16 68 |+&x—2E 0.33
138 |FTEBFHEDEVIS 0.18 118 |[+&5—FHOHEVIS 0.23
118 EBFHDBEVIS 0.18 7H IEFERAE 0.21
118 |4 EFEQEEUE 0.23 7H |BFERFE_LNE 0.21
148 |a#fEnEFHROEVE 0.19 68 |—AEAE 0.16 0.18
148 |BHENFHDOBEUE] 0.14 0.20 68 |—HZXEAE 0.12 0.24
148 |FTRABSEDFE 0.18 Il EEINNE| 0.32 0.24
118 |#LREmEDH 0.19 78 AN E 0.26 0.22
158 |2/ E 0.18 8H |AFFHDEVIS 0.26
158 |FERE®RRFEDEVE 0.24 7H Mo EE—REANE] 0.15 0.17
158 |SHFHDBEUIS 0.18 7H WO EE-BENE] 0.14 0.19
158 |FFHDBEVUIS 0.20 148 JEAE—RENE 0.19 0.12
158 |2 RFHDBEVIS 0.14 148 |JE:A P E— N E 0.20
7H |EEE—2E 0.12 7H | FHEWLUAE 0.11
118 |EREE=2AFE 0.09 8H [EN{EE—E 0.19
18 |EEE=2,E 0.12 8H [EN{EE=ZAE 0.19
118 |EEENAE 0.12 8H [EN{EE=E 0.17
8H |EEEHRAE 0.14 7H |BHAREAE 0.19
118 |FEEEARAE 0.15 8H |HFPELE 0.15
8H |EEELtAE 0.15 8H XE 0.17
68 |ESEHLUVAIE 0.17 128 |HHM&E 0.18
68 |RAEYRNE 0.18 148 |BHERFIZ 32— 0.13
68 |R=H-=-2E 0.14 148 |BEEHEE L 2— 0.14
68 |XAHLANE 0.14 0.14 7H et 53— 0.15
8H EAE 0.14 138 |8HaZ2=F1t> 59— 0.13
118 B L REAE 0.09 188 | AE+ 52— 0.13
6H |IEXU0LCAE 0.13 0.16 8H |Ex 25— 0.14
118 [#EEESNHNAE 0.13 128 |3tiEt> 52— 0.25
78 |StmEu2EFHOBEUE 0.13 8H @ttt 2— 0.24
78 |=tassem Feouvs| 011 0.09 7H FEE) 3 [ 012 | 023
7H |EtHEEFHOBEVE 0.16 350cm. 100cmilE B 4 Z FEaR D 1k m (PILED) DHD T
60 |EXAFHDEVIE]| 0.16 0.10 %023y Sv/hEA EDBIEEEZRARRLTOET (554 165E5R)
7H | ELH T 0.15




TAAKERFORIFREANERR —E (H24F587)

AEE() Sv/h)

AEIB(Q Sv/h)

HlEH *ﬁ"ﬁ_ #1(5¢cm)] 50cm | 100cm ’E‘"’E_E' S5 18(5cm)| 50cm | 100cm
148 sk R B 0.18 0.2 — 118 |PAE AR 0.16 | 0.15 —
108 |FHLUESE 0.11 0.13 — 118 | KWAOREAE 0.15 0.12 —
7H 1#E5REE 0.21 0.14 — 148 | KLAdE—2AE — 0.13 —
158 |BHEEERE 0.11 0.11 — 148 | KILAdEZLAE — 0.14 —
168 |CSBRER 0.11 0.12 — 118 | KRS NE 0.10 0.14 —
148 |3 ss#E-EEE]| 0.10 0.15 — 118 | KA E — 0.13 —
168 |[OFEHLYRER 0.16 0.14 — 118 | XREENE 0.14 | 0.15 —
9H |BHALEEE 0.08 0.15 — 148 | =LA E — 0.20 —
1B |cEEFERE 33— 0.13 0.21 — 165 [dtD R E — 0.22 —
168 |BHMNHEE 0.18 0.13 — 1685 |BREHRAE — 0.09 —
118 |BHEESHE 0.17 0.13 — 178 | EXERENE 011 017 —
168 |E4#E 0.11 0.20 — 18H | EXE=ZANE 0.13 0.20 —
16H |FEENYHE 0.10 0.12 — 14H | =52 WLEAE — 0.18 —
oH [ imlgHE 010 | 021 — 188 [FFOERE N E 021 | 0.20 —
118 |BHE—/IVFR 0.13 0.10 — 188 |0 Z HMILE — 0.23 —
178 |BHEZ/INER 0.09 0.12 — 178 |£/BE1E — 0.19 —
108 |BHE=/INFRK 0.09 0.11 — 178 |X/8E5 It E — 0.17 —
118 | KILA/NER 0.08 0.14 — 168 |23 E — 0.21 —
18H |EXRE/INFR 0.12 0.14 — 16H IHRAE — 0.14 —
168 KO/ ERR 013 | 0.15 — 148 | AP FHEDBEVIH] — 0.22 —
98 |E/hEER 012 | 0.17 — 168 [P AETHEDH — 0.22 —
8H |taB/IER 0.10 0.13 — 168 |BKkORENE 0.16 0.13 —
78 [ E/hERR 012 | 012 — 148 [F/KOBEAE — 0.17 —
168 |BFHFPFK 0.08 0.13 0.13 148 |/\iE 2 E /N E] 0.15 0.16 —
148 | RO 2R 0.17 0.14 0.13 108 [T EE2E 0.10 0.20 —
178 | EXREHhER 014 | 015 | 0.15 108 |IHOEEZEMEE] — 0.23 —
108 |l 016 [ 015 | 0.13 178 | EXRE—1NE — 0.19 —
9l #EEdh=& 0.17 0.13 0.13 148 |B#IIIRE NE 0.17 0.09 —
168 IBFESE — 0.21 — 108 [FEILIAE — 0.17 —
148 |[FEANHLRE 014 | 0.24 — 118 AL - BENE 017 [ 0.21 —
158 |BHFEVILIS 0.15 0.28 — 9H |ERRENE 0.18 0.18 —
148 | TR AR — 0.18 — 90 [Ht/ FREAE 0.20 0.26 —
148 | EANZNE — 0.16 — 108 |EEZEAE — 0.14 —
158 | KRFHDFEVIE — 0.17 — 78 |+x5—2HE — 0.32 —
148 | TEBFHOBEVIE] — 0.18 — 108 |[+R—FHOBEVIH] — 0.23 —
108 PEBFHDBEVIS — 0.16 — 8H |IEFEEAE — 0.23 —
108 |fAEFEHDBEWNG] — 0.23 — 8H |BFERFE_LE — 0.26 —
148 |as@ntFHovg] — 0.20 — sl =23 YN 0.20 0.18 —
148 |BHENFHOBEUE] 0.15 0.21 — 7H |I”HZEELAE 0.14 0.26 —
158 |FRABSEDFE — 0.24 — 8H |[=ARMRANE 0.23 0.20 —
108 |f<EHEDFE — 0.24 — 8H |HIE N E 0.19 0.28 —
178 |E/512E — 0.18 — 98 |AFFHDEVIS — 0.27 —
168 |FEmEt®RFHoEE] — 0.24 — 7H Mo EE—REANE] 0.17 0.18 —
178 |SHFHDBEVIS — 0.16 — 8H [ EEZRENE] 0.14 0.21 —
178 |FFHDBEVIS — 0.20 — 118 YA E—RENE 0.21 0.12 —
178 |ZFAFHDEVIS — 0.16 — 118 YA E— N E — 0.21 —
8H |EEE—2E — 0.13 — 7H | FHEWLUAE — 0.14 —
108 |EEE=AE — 0.11 — 8H [EN{EE—E — 0.19 —
8H |EEE=,E — 0.12 — 8H |EXNEEZNE — 0.19 —
108 |FEEEAE — 0.11 — 8H [EN{EE=E — 0.20 —
108 |FEEHRAE — 0.14 — 8H |BHARELE — 0.21 —
108 |FEEEARAE — 0.15 — 8H |HFPELE — 0.16 —
8H |EEELtAE — 0.15 — 8H XE — 0.16 —
78 |ZEZELVDAIE — 0.17 — 118 |HHm& — 0.19 —
7H |EAEYLE — 0.18 — 118 |BHERAItE 32— — 0.15 —
7H |EXE=E0E — 0.11 — 148 |BEEHEE L 2— — 0.16 —
=l EX A YNE| 0.12 0.14 — 8H |#Et 33— — 0.31 —
980 B E — 0.15 — 148 |8@#asa=F1t5—] — 0.15 —
108 B L REAE — 0.09 — 178 | AR+ 52— — 0.11 —
7H |IEX0&CAE 0.13 0.17 — 90 |Ex 25— — 0.15 —
108 |#EEESNHNAE — 0.11 — 118 |kt 53— — 0.23 —
8H l=xmwvrsraowvs| — 0.13 — 98 |fgftt> 32— — 0.30 —
78 |Exeasem raowvs| 012 | 0.09 — 108 [BHEE A 014 [ 025 —
8H |ErmBEF#HOBEUIE|] — 0.14 — 350cm. 100cmilE B[4 Z FEaR D1k = (PILED) DHD T
7H |EXAFHDEVIE]| 0.15 0.12 — 3023y Sv/hEA EDBIEEEZRARRLTOET (3RS 215E5)
8H |(URFEthFrEH] — 0.16 —




= | = I =
MAAEERFOMNEEAERE —E (H24F4H7)
. - AEIE( Sv/h) e - AEIE( Sv/h)
HlEH *ﬁ"ﬁ_ #1(5¢cm)] 50cm | 100cm ’E‘"’E_E' S5 18(5cm)| 50cm | 100cm
178 ek R B 0.20 0.19 — 178 | RE AR 0.17 0.15 —
128 |HLUESE 0.10 0.13 — 198 | XWAOREAE 0.13 0.17 —
108 |ERBE 0.19 0.15 — 198 | KLAdE—2AE — 0.13 —
198 |BHEEE 0.09 0.11 — 198 | RKILAdLEZLAE — 0.15 —
24H |CXKGHREE 0.10 0.12 — 178 | KRS NE 0.11 0.20 —
178 |3 iss#E-E5E]| 0.09 0.14 — 178 | KU AE — 0.18 —
198 [OFEHLYRER 0.18 0.15 — 178 | XMEENE 0.10 | 0.16 —
138 |BHALEEE 0.09 0.15 — 198 | =LA E — 0.25 —
168 |cEEFZEL 3— 0.15 0.17 — =0 E[dDY SN — 0.21 —
24H |BHH#HE 0.17 0.13 — 198 |BEHRAE — 0.09 —
168 |BHEESHE 0.17 0.11 — 208 | EXESBEEAE 0.14 017 —
188 |=4#E 0.12 0.20 — 248 | EXREZNE 0.12 0.22 —
18H |EENYHE 0.10 0.13 — 198 | =52 WLEAE — 0.18 —
168 |5 C SR £ HE 011 | 020 — 24H |HFOERENE 019 | 022 —
168 |BHE—/IVFK 0.10 0.12 — 248 |FO0ZBHILE — 0.24 —
178 |BHEZ/INER 0.11 0.11 — 208 |R/BEAE — 0.18 —
138 |BHE=/IFR 0.12 0.11 — 208 |=/BEitnEH — 0.20 —
188 | KILA/NER 0.15 0.15 — 198 |EE8E — 0.20 —
248 | EREINER 0.11 0.15 — 208 [HRAE — 0.15 —
198 Bk O/ ERR 014 | 0.16 — 24H | AP FHOWEUIE] — 0.23 —
128 |El/hEts 010 | 0.14 — 208 |FAEFTHEDFH — 0.23 —
128 |#E/INEIR 0.12 0.13 — 198 |BKORENE 0.13 0.13 —
108 o E/hERR 012 [ 0.16 — 178 LEKOA N E — 0.15 —
18H |BHFEK 0.11 0.15 0.14 188 /\iERE/NE 0.20 0.17 —
18H | RO R 0.15 0.13 0.13 168 [T EE2E 0.11 0.14 —
208 | EXREFFRK 013 | 019 [ 017 248 |ITZELHMEE ]| — 0.21 —
138 |l 022 | 017 | 0.17 248 |tXRE—NE — 0.21 —
128 |#E R 0.14 0.14 0.14 178 |B# LR E N E 0.15 0.10 —
178 [HFESK — 0.29 — 168 [FEILIAE — 0.25 —
188 |FEANHLRE 015 | 0.25 — 168 Y AL BENE 015 [ 0.21 —
18H |BHFEVOLE 0.15 0.26 — 138 |ERREAE 0.15 0.20 —
178 |FTHEARAE — 0.20 — 138 [dt/ FIREAE 0.18 0.23 —
178 | EAZFEAE — 0.20 — 168 |EZEAE — 0.14 —
178 | RFHDEUIS — 0.22 — 108 | +&5—2E — 0.34 —
17 | FTEBFHDEVIE] — 0.20 — 138 |[+R—FHOBEVIH] — 0.26 —
168 PEBFHDBEUIS — 0.17 — 138 [EFEEAE — 0.24 —
138 |#HAREFHDEVIE] — 0.24 — 138 [BFERFE_LNE — 0.25 —
198 |asmntFHovg] — 0.21 — 108 | —AEAE 0.15 0.20 —
198 |BHENFHDEUE] 0.16 0.22 — 10H |=HZXEAE 0.20 0.30 —
198 |FTRABEEDFE — 0.21 — 128 | =& AE 0.20 0.33 —
138 |#HLRIEmEDH — 0.25 — 108 |HIZ N E 0.21 0.29 —
208 |E/512E — 0.19 — 138 |8 EFFHDEVIS — 0.29 —
178 |FEat®RFHo#EvE] — 0.26 — 108 (b EE—RENE] 0.16 0.20 —
198 |SHFHDBEVIS — 0.18 — 108 (A EEZRENE] 0.19 0.21 —
198 |FFHDBEUIS — 0.22 — 178 YA E—RENE 0.21 0.14 —
198 |2 HFHDBEVIS — 0.19 — 138 |JE AT E— N E — 0.21 —
128 |EEE—2E — 0.14 — 108 | FHEIUAE — 0.13 —
168 |EEE - AE — 0.12 — 128 |EXN{EE—NE — 0.20 —
128 |EEE=2,E — 0.12 — 128 [EXNEE —NE — 0.20 —
168 |EEEMNAE — 0.13 — 128 |ENEE=2AE — 0.20 —
138 |EEEHRAE — 0.13 — 108 |BHAREAE — 0.22 —
168 |FEEARAE — 0.14 — 128 |HEELAE — 0.16 —
128 |EREELAE — 0.15 — 12H XE — 0.18 —
108 |£2ELVAIE — 0.19 — 168 |BHMZE — 0.22 —
108 |RAEYRE — 0.18 — 168 |BHERFIZ 32— — 0.18 —
108 |REE=2E — 0.14 — 178 |BEEHEEE2— — 0.15 —
108 |R&ALEAHNE 0.13 0.15 — 128 |#%Et 53— — 0.20 —
138 V2L E — 0.15 — 188 |@#asa=F1t 45— — 0.15 —
168 [{E L REAE — 0.11 — 178 | AR+ 52— — 0.15 —
108 |EX 0L AE 0.15 0.16 — 138 |EX 25— — 0.15 —
168 |[#EESNHNAE — 0.11 — 168 |3kt 52— — 0.28 —
128 [Extmswos3ztonvs | — 0.16 — 138 |fgftE 32— — 0.30 —
128 |etessem reonvs| 012 | 0.10 — 138 |5 HEE N 014 | 0.25 —
128 |EXmEFHoBvE|] — 0.15 — 350cm. 100cmilE B[4 Z FEaR D1k = (PILED) DHD T
108 |EXAFHDEVIHZ] 0.18 0.12 — %023y Sv/hEA EDBIEEEZRARRLTOET (554 235E5H)
28 |EFELhFrEH] — 0.17 —




